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LGS - — Gung <ifley

Part-A — General Studies

eflemmssar  : 1-100  Gwrss wHuQuerser : 150
Questions : 1-100. Total Marks : 150
1.  Which one of the following pairs is wrongly matched?
Revolt Area

(@ Ramosis —  Poona

AD Kuka —  Punjab

(III) Santhals —  Orissa

(IV) Kittur —  Malabar

(A) (1) and (III) only
(B) (II) and (IV) only
Wl (IV)only -
(D) (III) only
(E) Answer not known
Semeumd Gevarmasaiier gauprareupann sam®diy

Serirés WG
(D rrCurflen - g
dD) @en —  ugpE
(1) spseen - —  efler
V) S @ —  beurf

A () womo JII) b @b
(B) I wpgid IV) wr_ @i
©) (AV) o pw

D) JID) o Gw ,

(E) &fanL @g,'iﬂu_laﬂ'éosm@

p ' 3 CCSE2T/2024
' "~ [Turn over



9 “Problem of the Rupee” is the thesis submitted by
\)pﬁ{ Dr. B.R. Ambedkar

(B)
©
M)
(E)

“epumufer 1pssaman eTaTD < WIeUHléemean

A)
(B)
©
M)
(E)

M.G. Ranade
J.C. Kumarappa
Mahalanobis

Answer not known

L&t 9.1, SbCUSSIT
war. Gsr. grarGL

Gg.él; @Gy
wareCamda

efenL GsMuwieflcrene

FOMNASSTT.

3.  Who wrote a series of articles entitled ‘New Lamps for Old™?

(A)
B)
©

Dinshaw Wacha

‘Dadabhai Naoroji

Surendranath Banerjee

\ﬁ’ﬁ Aurobindo Ghosh

(E)

Answer not known

‘Blyy, eomblied St Gaurar. erangyd s@elld slHars Cgmiflaen
er(pSluledf wimi? ' '

(A)  Benegnm eunsen

(B) smarumi QperGrrel)

(C) &Crpdlysrs unarred

(D) sirelpGair Caraiy

() e&ler Qafuiaidena
CCSE2T/2024 4



Match the following correct Institutions with its location :

(&) NIFPHATT

(b) CICEF

(¢0 NFDB
(d) CAA

(@)
) A
B 2
©) 2
(D) 3

(E) Answer not known

(b)

2

L
4
1

(©)

3
4
il
4

L.

2
3.
4

Bangalore
Kochi
Chennai
Hyderabad

(d)

B o Qo W

Yereu(mid Hpeuamiisamer oiger Fflwirar @@Dﬁ;&,@;dﬂ QuTBSsayD :

() NIFPHATT
(b) CICEF

() NFDB
(d) CAA

()
@) 1
(B) 2
© 2
D) 3

(E) GIS]GE)I_..@‘Q";IHU_.IQS]@GOQ)

(b)

2

1
4
i

L,

G L g5 875 (15

2. Qan&s

3. Qearener

(c)

3
4

1.

4

4. eapgyTurs

(d)

M o
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5. Assertion [A] :

Reason [R]

In India, the traditional small scale industries
have greater employment potential than the
modern small scale industries.

The value of capital per worker in traditional
small scale industries is smaller than the value of
capital per worker in the modern small scale

industries.

\V({ Both [A] and [R] are true and [R] is the correct explanation

of [A]

(B) Both [A] and [R] are true but [R] is not a correct explanation

of [A]

(C) [A] is true but [R] is false
(D) [A]is false but [R] 1s true
(E) Answer not known

smpp [A]

smyewd [R]

@ bSluirefe L Uil A Qg rfledger AL E: 3
GeuenereumiienL peliar Sm) QsmfldsamarellL
CILATGE gl

Lrgibufu Ap@gmiasaia Agmfemarmas GaeneuriLi(Hid
gpager DAL G@Dalrse|b pefar Ay Osmfosaia
QgmflereT(hEE CaenauliLi{ib AP EOSET LI
SHSLIHAID 2 GTeTgi.

(A) [A] wppd [R] @ram®o &fl woHopid [R] eemug [Alssran sfwmer

clen&sLd

(B) [A] wpgd [R] @raw@d &fl gpemmed [R] ererug [A]uler sflwmen

cller&sid @eened

(©) [A] o o> [R] soup
(D) [A] soug e [R] &fl
(E) & Gafiueldamea
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Which of the following statement is correct?

(a)
(b)

(A)
i
©)
(D)
(K)

Equitable development is the main target of Eleventh Five

Year Plan (XI FYP)

Rapid, sustainable and more inclusive growth are main targets
of Eleventh Five Year Plan.

Both (a) and (b) are correct

(b) alone is correct |

(a) alone is correct

Both (a) and (b) are incorrect

Answer not known

ereuqmeuaeupmier erg sflwimeransy ?

(@)
)

A)
(B)
(©

(D)
(E)

swigieunrar wenGarppbd 1lleig mpsrar®s SHLsher Gpréswmsb.
2fCausiorar, Hlenawirer wHD SFSLLIGLITET o dTerLssw cuaiFs]
1leugl ppsnam®s ﬁﬁL{&,g‘Js&f (P&&EW CrrdantiEerm@Lh

(a) whpgbd (b) @raw@n sfurarane

(b) b sMurerg)

- (a) @b a=rﬂu_|rra;‘irrgj

(2) wpgid (b) Grem@d se:preneve:

@96@_ Oz flweloane
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7. Which among the following is correct regarding the target of literacy
in Tenth Plan?

to increase of literacy to 75% within the plan period
“(B) to increase of literacy to 80% within the plan period
(C) to increase of literacy to 70% within the plan period
(D) to increase of literacy to 85% within the plan period
(E) Answer not known
Gemeu(HeleTaupmer LSSTETH st  sflwimar soaflludley Qs mirLimer
Qoss -
(A) Aiissrasdad 76 dlwssTs soaflwheld 2 wire,

B) Hrissresda 80 slpsarrs sosiubleild 2 wie

(0 Srissrasda 10 sar s soallubeiled o wiiel
D) S ssresde 85 dlwssn s soelwudele 2 wifey
(E) e Qsfwsicdena

8.  Consider the following statements and identify the correct answer :

(A) The Central CIC is eligible for reappointment but the State
CIC is not eligible for reappointment

(B) The State CIC is eligible for reappointment but the Central
CIC is not eligible for reappointment :

(C) Bothare eligible for reappointment
\J(D'S Both are not eli'gible for reappointment
(E) Answer not known
ELsTaEnih snbDISE T smeSo Laran®), sMwrar el mus CaiplsbH&s :

(A) bHEHL BSOO®D HHEID JEOETLIIHEES YIEILILOEID FTEEWLID, eI
LOTH HENDEND SHEUD 2,enarT (&S mFlUIDETD STEE WL

(B) wrfle somomb S6a1D YRo@UIHES WHGLLED TS LID, pETTED
OSH LI HENELD SEEID B ERTIL(HES plwnand Frgdluinee

C) @Quamsatn opflunand srgduib
(D) @meumsEGn woEluwand srgslwinde
() e Qafuciidame

CCSE2T/2024 8 B



Find out the incorrect statement about the Sarkaria Cominission :

@
(i)
(iif)
(i)

The Commission was appointed on 1983
The Commission made 247 recommendations
The Commission reconimended to scrap the Article 356

The Commission recommended that the residuary powers of

taxation should be given to the states

\}}( (ii1) and (iv) only

B
(€
(D)

(1) and (iii) only
only (iv)
(ii); (ii1) and (iv)

(E) Answer not known

gr&smiluir yenemud uHPw seuprer sapilanar saEm._ M :

@
(i)

(i)
i)

A)
B)
©
D)
(E)

FHSSTIWIT 2pEneRTILILD 1988-1b TR FHURSSILLL )
Qs mamub 247 ufpgimrsmer elsssl
@ 356-g peoaspe Bbs @manubd ulitgorsss

aufleflfinded sarer ergrfl  sfsmisdt wrflomseliLn  @Qurés
Ceuamr@b erarmy @bs e LAbEMTSSE.

(iii) wpmud (v) w-Eub

(i) whmib (1ii) wGib

(iv) @b

(D), (iii) wppnd (iv)

sflenL. Gz Mwelievena
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10. Choose the correct pair :

&
@)
®)
@
*)

v
®

Name of the President
Dr. S. Radha Krishnan
Df Zakir Hussain |
Fakhruddin Ali Ahmed
N. Sanjeeva Reddy
(1)'.and (2) are correct
(3) and (4) are correct

Answer not known

sflwimer @ anemenil SeiorLDlg

(1)
(2)
(3)
(4
(A)
(©
(E)

G LIES Seeeui QLT
Dr. S. grgn. & mememnrsir
Dr. sn&ir o Gear
L&G(hSeir 2460l s

N. sgpfeu Qg

(1) wppo @) sAuner
(3) o> (4) shurerg

@S]Gml_Gg;rﬂu_l@S]Gbmé\)

CCSE2T/2024

Elected Year
— 1961
— 1966
- 1974
— 1977
(B) (2) and (3) are correct

(D) (1) and (4) are correct

GaipOsH&s 1L Sy
~ 1961

— 1966

— 1974

— 1977

(B) (2) wppid (3) shurars

D) (1) wpgid (4) sflwurerng

10



11. Find out the incorrectly matched.

(i) Article 18
(ii) Article 21
(1) Article 23
(iv) A1~Itic1e 20

Abolition of Titles
Protection of life and personal liberty
Protection against arrest

Right to free movement

\A&)((iii) and (iv) are incorrectly matched ,

(B) (1i) and (iii) are incorrectly matched

(C) (@) and (iv) are incorrectly matched

(D) (ii) and (iv) are ‘incorrectly matched

(E) Answer not known

EpEaEm_cupmIeT SeupTar GeaTani Sam_Hs :

®» el omguy 18

(i) s oguy2l

(i) s e gy 23

(iv) e 2 guiy 20

— UL EseneT LSS

~  elreumpsed wpgw saf wels ssBHTsHDere
LI ML ‘
— &g QEUJUJULJ@@JQ@SI@;E@J urrguasrruql

—  &spdrors pLorhegparar 2 fao

(A) - (i) whgd (iv) geuprer Geerr

B) (Gi) ILD‘l_f)g)ij (i11) seuprar Genewr

(©) @ wppbd (V) seuprar @eenr

D) (D) wopd (iv) seuprar @everT
(E) eflen. QgMweficana

11 CCSE2T/2024
: [Turn over




12. Which of the Vedic Gods is described as the “Destroyer of cities”?
(A) Agni -\ Indra
(C) Rudra (D) Vishnu

(E) Answer not known

‘parmsemer SALILGT ey orhs Caugs SLeyer ofurL@Epmi?
(A)  =isafl (B) @pdlyer

© @prar (D) efsyen

(E) ofer Qsfweiaamer

13. Which one of the following is not correct about Harappan culture?
\M All Harappan sites are urban character

(B) The Harappan cities depended on villages for food and
labourers |

(C) Harappan remains discovered even at small village sites
(D) The most distinctive feature of Lothal is dockyard
(E) Answer not known

Epaanauppidr apruiur praflen uhdl seuprar sHm 6rgl?

(A)  enpuur preflssdd simass @LkisErb par prafeb dsrar g

(B) aenpuur pasyhsEr 2 eeyssTsa|b, LaflLTeTisErssnsab STmohisamar
FMBSGESS)

(C) epmiun praflagden arssmsar AHu drmohmsaiaid HeoLsdems

(D) Gargsedar HpLLIbED GODAPSLD D@D A

(E) eflenr Qsflweciicbena

CCSE2T/2024 12 B



14. The Gupta emperors before Chandragupta-II issued only

~15.

poins.

& Gold -

(B) Silver
(C) Tin
(D) Copper

(E) Answer not known

C @rarimd  FBAr  GUSMHES (PHesL  GLUS  GTaNTSET

Breawwtisenar L HGH Geueafludi e,
(A) smsb

(B) Qeugre

© ssmo

(D) Gy

(E) alan Qzflweidene

Haque-1-Sharb (or) Hasil-1-Sharb means

(& Lond Tax | \J& Trrigation Tax
(C) Commercial Tax ‘ (D) Toll Tax

(E) Answer nof known |
QDTé-@-eamits idas) anefld-@-asi eeuger QUTEET
A) fleoafl (B) Brounser e
@ st | 105 TR

E) oL Osfucibvne ‘

13
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16. Which of the following is correctly paired?

@)
(i)
(iii)
@v)
@
®

Hematite Ore — Oxide of iron

Magnetite Ore — Black ore

Limonite '—  Dolomite
Siderite —  Iron Carbonate
(1) only

(11) and (iii) only

A @, (i) and (i) only

D)
(E)

(i1i) and (iv) only

Answer not known

\Nemau(peuamaupiled eTenay sfluins @enearréasiLL (Hararear?

6
(i)
(i11)
(iv)
@A)
- ®
©
(D)
(E)

Q@_ﬂ)mémLL sy — @bl s

GudemepLL STH —  &GLL STF

S Cmenet - GLreveninl
S eniL - @by smiuGen
(1) wr_ @b

(i) wppid (i) 0GB
(), (i) wogd (V) wLED
(iii) wpmpb (1v) ol Gib

flen_ Qzfuieicenc

CCSE2T/2024 ' . 14



ik

Densification and compaction are unit operations that are used to
increase the density of recovered materials to reduce transportation

costs and simplify storage. This method is used in

(A) Composting of degradable waste in MSW
(B) Transportation and Transfer station storage of MSW

(C) Construction of Landfill site for MSW

VGDY Processing and the Recovery of waste components from MSW

(E) Answer not known

SILTES DM HHESLD eTemLg Curs@Galrsgéd Lewesamend GMPUUSHED,
CaflliLgsams ereflgné@eugh @b, B QL Gésrinri QumpL_sefier
SiLTgdlerw Hfafsa LuaURD BeG QFuduTRsET @b, @bs e

1Y 6hraupLd THS pepuid LweTuRSsILHE DS ?

(A) MSW@e wésb GLeUsS®ET 2. ToTEEs

(B) MSW@er CGursgeurss wpmid Lflombp Bleww Cediiy

(C) MSWssrar floob Bruyb sesddar si_@orand

(D) MSWellppa sfle) sspisemerd Qewuans@sd wopn B0 Hssd

(E) oo QsfNwiefdvanad

15 CCSE2T/2024
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18. Récently in Dubai, cloud seeding technology is used to get artificial rain.

The most commonly used seeding agents among the following are

(1)
2)
(3)
(4)
(5)
e

(B)
©)

D)

(E)

Silver iodide
Dry 1ce

Sodium chloride
Lead 10dide

Ammonium sulphate

(1), (2) and (3) only
(3), (4) and (5) only
(1), (3) and (5) only
(1), (3) and (4) only

Answer not known

<iamenioude, gumde Gus elmsliy Ggmidp ub Qeupems wepamul Cup
Lwem I (QHSSIULL g '

\Retreu (HeuaTaHmIeT GG QurgieTs cllens i P&6UTHETTS
» LUGWNA&ssILRSSLILIGE emmen ? ' '

(1)
2)
(3)
(4)
(5)
(A)
(B)
©)
(D)
(E)

Geudtall HGuirenL [
2 eif el

Gemgwib GGamreny(h
FrL 1@{(3“.1!1’@’)[.@

DCwrafwb FodGuL.

(1), (2) wppid (3) L ED
(3), (4) wpgid (5) L ED
(1), (3) vpmw (5) Lm'_®1_b
(1), (3) wpmud (4) wr @b
eflevr Gsifluieieana

CCSE2T/2024 - 16 - ' B



D

20.

“Tamil Nadu Day’ eelebrated every year on
(A) June 8 - (B) June 18
(C) July 8 \‘@f July 18 .

- (E) Answer not known

‘gﬁQ(LF;W(B éleﬁrLb" pabaimm aumLapb @bs Harsdad Qsrarr LLREng)
(A) gOar8 (B) gOar 18

(C) goaa 8 D) gww 18

(E) e GsNueidama ’

Which of the following is correctly paired?
(1) 2014 - Target Olympic Podium Scheme
(2) 2023 — Mera Yuva Bharat (MY Bharat)

(3) 1982 —  Sports Authority of India (SAI)

(4) 1984 — Dronacharya Award was instituted
(A) Only (8) is correct \M (1) and (2) are correct -
(C) Only (4) is correct D) (8) and (4) are correct

(E) Answer not known
ELpsaeim_auhdled sAwrsLs QUTBSSILILL @) anenr 6reneu ?
(1) 2014 - HawYs CoeL Qasgs S b

(2) 2028 ~ aang @aerw unrysn (MY umys)
(8) 1982 — @Erdw deerwum (@ yevarrus (SAT)

(4) 1984 — gGprewmsemfunt efpe HmeutiurLg
(A) (3) wrEn &M ' | B) (1) wppb (2) &
(C) (4) wr@Ew & D) (3) wdmib (4) &M

(E) e&flen G]g;rﬂuaﬁlébmeu

17 | CCSE2T/2024
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21. A current of 0.5 A passes through a lamp fortwo minutes, then the
number of electrons pass through the lamp is

(A) 6.25 x 10'® electrons
(B) 6.023 x 10? electrons
(C) 1.6 x 107" electrons

V(?){ 3.8 x 10% electrons

(E) Answer not known

0.5 A WerGamm L 1b gafigpd elerée eufurs @par® L kiseT LTLEDg
arafier, efleréd auGu Qe erdindcrearamsaarfie ereremnlsans

(A) 6.25 x 10" aravsi_grensdr

(B) 6.023 x 10% crwél yranser

(@) 1.6 % 107 s granser

(D) 3.8 x 107 srewsi_grensear

(E) e Gsfweldana

22. ISRO prefer to launch Human space flight mission during
75t independence, the (crew member) explorer is named as

(A) Astronaut (B) Cosmonaut

U,Qf Gagannaut (D) Ganganaut
(E) Answer not known

@QidHu eanmCeual e epussTd Tdeug HHETSHaT GCLTE erailiLipib
weflgemers Qsrar® Qeogid  aflarsoidar  dfambeuefll  Lwemd
CunOamer@Eph @ 2mlibarnt ereuelmn HepssLL(peurt?

(A)  pevr Cpmpm (B) aravGuomrpm
(C) smampiL. (D) aerJasrr‘r_r;m'_
(E) e Gsflweidene

CCSE2T/2024 18 B



23. Select the chronological order of mentor 55 student chain in the

establishment of scientific methods

. (A) Aristotle — Alexander — Socrates — Plato
(B) Plato — Socrates — Aristotle — Alexander
\)B)’ Socrates — Plato — Aristotle — Alexander
D) 'Alexander — Aristotle — Socrates — Plato
(E) Answer not known
allgsesmar  pepswer  Hneeude euflsrig - et smddew
a;rm)_mrﬂem&uuu]__ CabgHi&se b |
Q) - efevirqd - SQassrar_i — snémes — [9Cam G
(B) ﬁ]@mﬁ@m - #n&ned — Siflevmned ~ QossTamrit
(C) ensmedv — 9CarCLr — iflavim e — D@ @sETERTL
(D) @{Qmésarrsﬁuru'r - Sflebmiigd — srgreey — 19Cer G

(E) ofane Qsfleflee

B~ 19 | CCSE2T/2024
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24. A force of 1N acts on a body of mass 10 kg. As a reéult, the body
covers 100 cm in 4 seconds moving along a straight line. Find the
initial velocity of the body.

(A) 6cm/s
VQBY 5 cm/s
(C) 8cm/s
(D) 12 cm/s
(E) Answer not known

10 ACeor ereLwerar @@ Qurmefld 1IN oflavs Qewou@Epg. Qe
Mavarauns obs Qurmer 4 aflamgseiiec 100 GeS CprGamiged BB
arafléd igear orbL Cassamags sem_Hlwielb.

(A) 6 Qs.8/cfarmg
- (B) 5 Qs.8/eMermg
(C) 8 Q&.8/carmy.
(D) 12 Qg..8/68armg
(E) oo Qzflwaiidena

25. Green light shines on a rose flower. Then, the colour of its petals seems

to be
(A) Green (B) Pink
& Black (D) Red

(E) Answer not known

am Crmgr fiptiedd Lsms gafl gaflialissng. 2Gung), sigar Eshseiler
Bipwres Csmeme.g

(A) udee (B) Qeuefirdleuriy

O smuy (D) Aautiy

(E) e Gz flweidamen

CCSE2T/2024 20 B



26.

27.

The Neyveli Lignite Corporation was established by the
Government of India in the year

& 1956 - (B) 1972

(C) 1980 (D) 1959

(E) Answer not known h

QpiGeuell esemar.. ariuGreyer Himeuand @iHu  srered . euGung
Boieeriu L g 7 |

(A) 1956 B) 1972

(C) 1980 (D) 1959

(E) ofeo Qsfluefdama

Arrange the following universities in chronological order based on
the year of establishment :

(1) Manonmaniam Sundaranar University

(2) Bharathidasan University

(3) Thiruvalluvar University
(4) Periyar University

@ @, @, 0, v @), 1), @),

€ 1), 3,4, O3 D) 1), (3, @), 2

(E) Ans“{er not known

AeTauqpld LIDSMOSESRSBIGMET el Hlpeuliul L ey er sreelflensliLig
R(PRISOEEELD

(1) wGarmanseflwub &bsramT LOSMOESHED

(2) urmrdsnsdr LOSMOESDED

(B) Pmeudreneulr LOE®OESOSD

(4) Gufturt LdsmESSLD

A @), @, 1), 3 B) @), (1), @4, (3)
©) @),@),®,® D) @), (3), (4, (2
(E) oer Qaflwaicrane w I
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28. Assertion [A] : Backward class commission under chairmanship

of B.P. Mandal was appointed by the President in
exercise of the powers confessed by Article 240.

Reason[R] : The commission has developed eleven indicators

A)

to determine backwardness.

[A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A] ‘
\/d [A] is false, [R] is true
(D) Both [A] and [R] are true; but [R] is not the correct explénation
of [A]
(E) Answer not known
smom [A]  :  elcn@fie 2406 gped gensE  eupmsHULL
sifemgdarug  mamdud  B.P. werid  earusieny
GHu@ESSILL L @G HESTET YOETWLS SEWEUTTS
Blundlsgmi.
smyanrd [R] - Aeuciramaruib Qearsudu Howowu Sioraflss LEGarTH
GSOISTL 1956067 2 (heuTHEIW6TeTg).
(A)  [A] sflwrerg e [R] geupnang
B) [A] womw [R] @ren@o sfwurarg; Cuoaibd [R] wyeig [Alefpser
sflwrar ellerdsib
(©) [A] saupreng; [R] eflwnars
D) [A] whmd [R] @rewm@d sfiwurerg; <pame [R] e [Alefpsrer
sRlwumer lleTdsEd S :
(E) eflenr Qsflwelcrena
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29. Match the following :

()
(b)
©
(d)

A)
(B
©

9

(E)

Non-Brahmin Movement

Self-Respect Movement
Shuddhi Movement

Sathya Shodhak Samaj Movement

@ b © @

2 1 4 3
1 4 2 .3
2 3 4 1
i 2 3 4
Answer not known

. Spssam_eauperp Quimsgs

()
()
(©
(d)

(8)
(B)
©)
D)
- (B

SymoanaorGsri @ widsib
sunflures @uissnd
aesEl @ WLssD

&g@ Cangné somd @uiGsDd

@) i) e - (d)

2 1 4 3
1 4 2 3
2 3 4 1
1 2 3 4
el Asfwueoama

B0 o s

St Bl e

Jyothi Rao Phule
E.V. Ramasamy

Dayananda Saraswathi
Sri Sahu Maharaj

Cordlymeu G
m.Ged. grwemd
sunenss Freveid
b 7@ LETTR
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30. Arrange the following events in chronological order about E.V.R.

(1) He became the President of Justice Party

(2) He joined Congress

(3) He became President of Tamil Nadu Congress Committee
(4) He organised Vaikom Satyagraha

&) (@), ®,3), 1) B @, 1), 3,

Vel (), ®), @, (D D) 3), (1), 4, (2)

(E) Answer not known

m.Qargm. uHf sre euflensiinig 1GerauHbd BlSDaSHEEr Q(IPhIGELDSSELD.

(1) et §Hs s filler garaeur e
(2) i srmdralle Caipsmi
(3)  wieuir sAPBETH sridren sl quler genaalir e

(4) oaussd ssHundysd geusdant

A 2),®,3). 1) . B) 4), (1), (3), @)
©€) (2),(3), @), Q) B )N NEVRCINGY)
(E) oferi Gsflweieena

“Vaanalum Selvamum Mannarasum Yaan Venden”

31.
[I don’t want rule the sky, wealth and monarch]
Who said these words?
(A) Ramalinga Adigalar (B) Sundarar
(C) Nammalvar \}EY Kulasekharar
(E) Answer not known
“euram(enLd @adaipld waktamyah wreGeuarGL G — Granpl LT, |
(A) @orodns sigsarmt (B) spgyr
(C) pwwmrpeurt D) waGsart
(E) eflav Ggflweiicrena :
CCSE2T/2024 24



32.

Match correctly the Newspapers associated with its Founders :

(a) Richard Johnston 1. Madras Courier

() G.P. Pillai 2. Madras Mail

(c) -Charles Lawson and Henry Cornish 3. - Madras Star}dard
(d) G. Subramania Iyer 4. The Hindu

@ ® ©© O
ICREY P

4 .
)L, @ Bl g
(0 1 SR NS I |
@ Bl O i

(E) Answer not known

GampgelissatsesLer GgrmyamLw Qeidssreaer sflung QUmmSse b

(a) Mesr@ grebraes | 1. wsyrev saflwi

(b)y G.P. Qévenar | 2. wgmed Quufd

(c) eriteded ereeT LDJj)Q_lLb 3. ogTed G e i
-~ Qemerf) srivafley |

(d) G. surwerfin g 4. & adig

@ ®©& © @
) 3

1

B 1 2
© 2 3
D 3 2 .
(E) ol G]g,r'.ﬂu_laﬁlsbmco

| ~ S o b R o
B> = R

At Ly o | CCSE2T/2024
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33. “Number four and two are strengthening your words”
Number ‘two’ refers to what?
(A) Proverb qﬁ‘( Thirukkural
(C) Naaladiyar (D) Aathisoodi
(E) Answer not known '

“Brgud @ranGib Gsrogssend’ e upGomiia ‘Gren@  asoans

GH&EeTmE) ?
(A)  bpGomf (B) d@s@per
(C) pregumi (D) <ysfé@

(E) e&flen Gsfwaficrana

34. According to Valluvar, which will be considered with ulmost

gratitude?
(A) As Bamboo as Benefit \/(B{ As Millet as Benefit
(C) As Sea as Benefit (D) As Mount as Benefit

(E) Answer not known

THEHET ‘Limanuena] pendluimgd Clamereu eram cuaT(@heur GUNRIE N e
(A)  eaprudler erey pebrdl (B) Semer seray pen

(C) sLé <iena per (D) were sjetey mabl

(E) &flerr Qsfuichicrena : ‘

35. <“Kallaarai Kaanungal Kalvi Nalga
Kasadarukku thookkumaram angae undaam”
Who wrote these lines?

\,{ﬁr Bharathidasan (B) Kannathasan
(C) Vannathasan (D) Vaanithasan
(E) Answer not known :

“HLOMNTS STEMIBIGTD Hevedl HOHTE

SELTEGS FIé@orh oimGs o ammb” —

@sseillans euflsEnsE o Mweufr wimi?

(A)  umpdgneer (B) sanangrae
(C) euamemsngen (D) euranfigmaar
(E) oflen Gasfweidene '
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36. The Pakistan resolution was passed by the All India Muslim League

at its Lahore Session on
(A) March 5%, 1933
(B) August 5tk, 1933

\;z( March 23t, 1940 -

(D) March 224, 1941

(E) Answer not known

fleo @pdu  @evedlld & urdladvgrer SToTETEMs @TEMT  LOTHTL L.

er@ung HeopCapdug ?

(A) oTE 5, 1933 '

(B) wysevr 5, 1933
(C) wmi& 23, 1940

(D) wnie 22,‘ 1941

(B) ofer QsNwefdare

B . 27 CCSE2T/2024
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37. If ABCDE = P1Q2R3S4T5 then which one of the followihg is equal

to Q2BFV7A.
(A) BQ2V7GP1 (B) BQ2UGEP1
(©) BQ2V7EP1 &7 BQ2U6GP1

(E) Answer not known

ABCDE = P1Q2R354T5 aranr Gmpsrd Garemaarapner Q2BFVTA

CTGITLIG (G FLODTGTH GTHI ?
(A) BQ2VIGP1 (B) BQ2UGEP1
(C) BQ2V7EP1 S (D) BQ2U6GP1
(B) ofev Gzfiweiidena

38. Gopi sold a laptop at 12% gain. If it had been sold for Rs. 1,200
more, the gain would have been 20%. Find the cost price of the
laptop.

& Rs. 15,000
(B) Rs. 16,000
(C) Rs. 14,000
(D) Rs. 15,500
(E) Answer not known

CGamd ewm wyssafafou 12% Qerusdde «Appri. ‘Gmgmb Y5
. 1,200-6@ @mpsors ApMmssre @eomub 20% s Q@bilmeEsib.

wigssamflaluder oI &5 dl@maumus srwErs.
(A) e 15,000
(B) e. 16,000
(C) . 14,000
(D) ep. 15,600

(BE) &fenr. Gafweidana
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39.

40.

41.

What is 20% of 30% in 500?

I 30 , . (B) 150
© 175 - (D) 100
(E) Answer not known
500 @er 30% wHridd 20% erairen?

A) 30 ' (B 150
©) 175 (D) 100
(B) e QsNweférana

Find the missing number in the series.
4, 18, ?, 100, 180, 294, 448

v 48 | ®) 50

(C) 158 e D) 60

(E) Answer not known

Qerp&siiul L. Asm Ndmbs HULL aareeans sreas.
4, 18, ?, 100, 180, 294, 448

(A) 48 (B) 50

(C) 58 : (D) 60
(B) eflar Qaflueiidana

The sum of first n natural numbers is 253, then find the value of n.
W22 , (B) 18

©C 24 1’16

(E) Answer not known

Wpsd 1 Quie eravsailar ampsd 253 aafler, n-ger wALiL| Sremrs.

@) 22 =0l iBY2 18

© 24 (D) .16

(E) e&ler Qsfweiicrenc
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42. If fox=cat then xerox may be equal to

(A) terct
(B) tcroa
(C) tecrot
v(zﬁ terat
(E) Answer not known
fox=cat eraflcr xerox srarug eTsear GHl&E@HDL?
(A) terct |
(B) tcroa
(C) terot
(D) terat _
E) oL Gsfucidns

43. Three dice thrown at once. Find the probab111ty of getting same
numbers in all dice

1 | B g.
@ 4 B) 51z

1 1

36 D3

(E) Answer not known
ApETm LS@®LSET @atprs o Gl LuGhiung magg vseLwland @Gy
orein Senl &8 HEPSHa| eTemeT?

()—

“ 216

(©)

(E) e Qsflueidama

gir—t S |

D) E
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44,

45.

The curved surface area of a right circular cylinder of height. 7 cm is
66 cm?2. Find the diameter of the cylinder.

A 2cm

(B) 4cm

(E) Answer not known

. 66 #.05.8 euanerurtiganw ¢(p Gpireul L o maverudar o wgd 7 Q.8 erafle,

2 (peneruder efllL b Srams.
(A) 2Qs.8

(B) 4 Qs.8

(C) 6G0s8

(D) 3 Q@s.8

(E) e Qsfuaideame

The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates
at the rate of 4% p.a. in first year. In second year it increases by
4% p.a. Find the present value.

(A) Rs. 76,800
(B) Rs. 80,000
(©) Rs. 80,128

& Rs. 79,872

(E) Answer not known

Qm sss7 aursard qadear dlame @ran® arhseErse pear o5 80,000.

WPed ErH arshE 4% Gandpg. @rerLmd ear® 4% dsfsdpg
arafle) Digen sHGLTensw ellena eramen ? _

(&) . 76,800
(B) . 80,000
(C) o5 80,128

D) . 79,872
(E) efer Gsflwelerena
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46. There are four cell phones in a house. At 5 a.m, all the four phones
will ring together. Thereafter, the first one rings every 20 mins, the
second one rings every 30 mins, the third one rings every 40 mins
.and the fourth one rings every 50 mins. At what time, will the four
cell phones ring together again?

(A) 1P.M.
(B) 1AM.
3 P.M.
(D) 3 AM.
(E) Answer not known

O &lgd prag @oGuilsdr odaer. oo 5 wealléE, ader
SCuilsEnhd geamprs dlsgh. D6t Wesd mebudlureag qpeubeung
20 pifltisefigid, @rewrreug si@waGusl gaGarm 30 Bl hsafigib,
apemreg emaGusl geuCeurm 40 Fillmiseflgid, pratameug ameGus
padeurm 50 B _nsalgb edlsdapar crafld, e WarHb eriiGLing
RETDTE GO SELD ? :

(A) Qpuse 1 wenf

B) wpusd 1 we

(C) Y9pusd 3 wed
D) whused 3 wewf

(E) e Qsflweidena

47. TEHCF of x° -8y® and x% — k%)% is x + ky then value of k
(A) 2or -2 B) +2

wel -2 M) 0

(E) Answer not known
x® —8y% wpod %% —k*y? @ BuGue Qurg ausss t+ky aefle kda

Y- 2N
A) 2 soeg —2 (B) +2
€y =2 Do

(E) e QsMweferene
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48.

49.

50.

In how many months the principal of Rs. 2,000 will double at 8% per
annum in simple interest?

(A) 144 months \IB{ 150 months
(C) 120 months (D) 140 months
(E) Answer not known

safl aul iy epawd ed ep. 2,000, 8% aulgeissded @ringliuns ereusuene]
LDTSLD D&LD ? : )

(A) 144 wrgruser (B 150 LOMGEIEET

(C) 120 wrsmser (D) 140 wrshisér
(E) e Gsflueioena

The L.C.M. of 3, 2.7 and 0.09 is

(AY - 27" e ' (B) 0.27
(C) 0.027 27 27
(E) Answer not known

3, 2.7 vppb 0.09 ér B5.8.10

A 2.7 (B) 0.27°

() 0.027 SN (-1

(BE) oo Qsflueiicame

Which one of the following lies between /7 and 4/5?

@ 2 | & V3

© 4 D) 5

(E) Answer not known | :

Spsanaruaphed erg) 2. LoHmiLh 45 BQeaupNpeg el awwb?
@A) 2 ®) 3

©) 4 ®) V5

(E) eflerr Qsfucdena
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51. Arrange the following Books of Jawahartal Nehru in Chronological

order considering their year of publication.

(1)
2)
(3)
(4)
A)
o
©)
D)
(E)

An Autobiography : Toward Freedom
Glimpses of world History
The Discovery of India

Before Freedom

4, 3), 2), (1)
(2), (1), (3), @
(2), 3), @, (D)
(2), 4, 3), (1)

Answer not known

seaianiord  Cpmellar mrosmer o@er  Ceuefluf it

Sjigliueniuled sreelfiensiiLBssls

(1)
(@)
3)
@)
4)
®)
©)
D)
(B)

e aLsfoms : sspHrbd Coréd
2 Q& UMM G LimiTeneu
@pbHunaller samHiiig i
s5BHTEHDS @per

4, 3), (2), ()

(2), (1), 3), 4

2), (3), (4, (1)

2), @), 3), (V)
eflan Gsflweidena
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52. Who among the foll;f)wing had started ‘Mitra Mela’ Association?
(A) Shyamji Krishna Varma
\,GB’r Vinayak Damodar Savarkar
(0] Lalé Hardayal
(D) .Sohan Singh Bakna
(E) Answer not known

WereumeuaaupBies ‘Wgym Cuern srhssms Qsrikidueut wri?
(&) dyumdg Ageienr astom

(B) eprws srlwrsi sreutsst

(C). QTG QUDITSUINGT

(D) Gsraper At LseT

(E) oo Qsflualoame

53. Who founded the All-India Muslim League in 19067
(A) Muhammad Ali Jinnah
W Khwaja Salimullah
(C) Sir Aga Khan
(D) AK. Faizul Hagq

(E) Answer not known

siwasSpBiu advdih 86 s feow 1906-0 Bpelug war?
(A) waws o6 e

(B) &eurgr &@S]@Gi)ﬂ)rr

(C) & ans ‘asrreii.r

D) e.Gs. ausd aps

(B) &enr Qsflueforens

B | | 3% CCSE2T/2024
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54. Assertion [A] : Swami Vivekananda founded Ramakrishna

Mission to popularise the teachings of his' master.

Reason [R] : Ramakrishna Mission was a monastic order and

A

1

©)
D)

(E)

devoted itself to the spiritual development of Man.
[A] 1s true, [R] is false
Both I[A] and [R] are true and [R] is the correct explanation
of [A]
[A] is false, [R] is true
Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

Answer not known

gpm [A] :  seamf  ACausmaibst serg @Gnelear GLrsmarsemer

uglin @umodlheigentt Lesener bBlimieSarmir.

amyenid, [R] : @umodmesent Wager @ SDeUD UL OHDID g

(A)
(B)
(©)
D)
(E)

. weaflgaflar amnbs euearisflse garmar SilUmISES -
[A] &, [R] seum
[A] wpps [R] o, [R] [Alfgion s sfiunar censaid
[A] saumi. [R] &
[A] wpgud [R] mﬁ e [R], [Allaien w sflurar efargsneaa

dflen AgMwalildane

CCSE2T/2024 36 B



55. Arrange the following studies of Poverty in India in chronological

order :

1)

@
®)
@
A)

B
©
(D)
)

Ojha’s ‘study

Bardhan’s study

Minhas study

Dandekar and Rath study

@), @), ), 3)
@), @), 3), (@
@), @), (1), (@)
@), (1), 3), @)

Answer not known

@sdwurailer  eupenw  upPu  Geeumid

RPRISHLOSEE|LD

1)

@)
(3)
(4)
A)
(B)
©
D)
(E)

SR ey

LIgesT yiliey

LﬂG%T@')ITGfD <6

‘E,GO‘GTGI_BSI‘F wHDIL Tré ey
@, (@, (), ®

(1), (@), (3), @

(3), (2), (1), (@)

), (1), 3), @)
eflen. Qgflweieened

37
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56. Inorder to double the Farmer’s income through digital technologies,

action should be taken from

(i) Technology generation and dissemination, policies and reforms

and developmert initiatives
(i) Policies and Reforms
(11)) Reforms and Development
(iv) Artificial Intelligence |
: V(A{ (i) only (B) (@) and (iv)
© (i)and i) @y Ge)only

(E) Answer not known

g8l LD @grr%ﬁ]sbgu‘_uréjasm epatd efleusmulisefen cupLTaISMmE @I I L1LITSS

eThids Cauamgul bL6lig&Ems

() Qamiempru o (reurdsd  wHML  UFeed, GCandrepsseT  WHMID

Er S mBSMEET HOID euaTEs) searédaar
(i) Osrdramss@md, ST mosHsEH0
(i) SrfssHsED. WaGmpPED
(iv) Qewpens memembdleyd
@) G) ocen B) 6) oo (iv)
© (i) wppd i) D) ) or Gid

(B) ofeaL Gsflwstidama
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57. Match the following :

(a) Tax Revenue 1. Interest receipts

(b) Non-tax revenue 2. Net market borrowings

(¢) Capital receipts 8. Taxes on Income and Expénditure
()i, )
el 3 e 9
B 1 2 3
C) 2 1 3
D) 3 2 1

'(E) Answer not known

eeumeuaraihep QUTFESS!S |
(a) ef eugmaumis 1. el 5és

b) af swers agam 2. Bar ebms sarse

(¢} epesar yEgiser 3. eumrar whHnb Gewey Bsrear eufsar
@)L (o)

(A) 8 1 2

B) 1 2 3

(@F2ue.. 3

D) -3 2 1

(E) aﬁla)‘; QzMNweldranen
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58. Match the following :

Enacted Year Name of the Act
(a) 1963 1. Prevention of Insults to National
oL ‘ Honour Act
(b) 1991 2. Representation of People Act
(0 1971 3. Government of Union Territory Act
(d) 1951 4. Government of National Capital
. Territory of Delhi Act

@ ®» © @
) 8 4 1

B) 1 2 3
C) 4 3 2
D) 2 1 4
(E) Answer not known

G = N

Spsaeim_albarml Qun@éga E

Qupprinc L oparhH gL gdler Qi ,
(a) 1963 1. priger QU@ seundssiLiGiouanss
sl Qe g i 1b
(b) 1991 2. wvésdr GrHHdsgiens b
(¢) 1971 3. @B emplur) LgHE gl Lib
bHlLl ¢ &
(d) 1951 4. Gzdlws smapsi QLo gamdlul LuEHs
CFLLID : :

@ ® @ @
A 3 4 1

®1 2 3
(C) 4 3 2
D) 2 1. 4
(E) e Osflweclidana

W = = D
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59. Assertion [A] : Governor in the Indian Federal System is

- assigned dual role, as the constitutional Head of
the State as well as the representative of the

Centre.

Reason [R] :  The Office of Governor is against the Federal

v

(B)

(©)
(D)

structure.
[A] is true, but [R] is false
Both [A] and [R] are true, and [R] is the correct explanation
of [A]
[A] is false, [R] is true ‘
Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

Spor [A] 0 @A s miAuld, eeEst, o smeert Lo mLh
wHw sirfler GTHHS ererayd G esoner Liafsamar
Qewidmmi.

smyamd [R] @ wyempt eramy fipeuaGo s Lm Hag afyrans

A)
(B)

©
D)

(E)

NN [A] M, <parmed smyewrd [R] seupy

sapm [A]l wpmd smamd [R] &fl, Cogib smpm [Alssrar  sfwmer
eflerssors sryantd [R] o drerg .

aapn [A] seugy, sryeernd [R] &l

gy [A] Loﬁ)guLb smyend [R] @rem@n oM, opeméd apm [Alssrer
ghlwren eflergsions sryemd [R] @dame

silanL. GQgMuredena

41 CCSE2T/2024
' [Turn over




60. The framers of the Constitution incorporated the duties of the State
in the constitution in the form of the
(A) Fundamental Duties
(B) Fundamental Rights
\(Zf Directive principle of state policy
(D) Rights of Citizen

(E) Answer not known

Sirfluenblient &@@Jrraislé]u_lmr'rasm 2irfler sL@wsaTs FHwweanridle
@ps augaipde Gerssar.

(A) @iglieL sL_ennaEeEr

(B) <@ngrinen 2 flennsar

(C) <rélan auflsm (b Gpdlapenpser

(D)  ©ywssEpssTar o Mannser

(F) & Qsflwelicene
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61. Which of the following bodies doesn’t/don’t find mention in the
Constitution? i

(1) National Development Council
(2) NITI Aayog |
(8) Election Commission

(4) Finance Commission

W (1) and ) only ®) (2) only
(C) (1) and (4) only - D) (1), (2) and (3) only
(E) Answer not known '
Spsam..  H@oblyseld  amel/ameisdt  rRlumamoLiLE sl Sdlev
srenrluL aSébanay ? ‘
(1) Gsélu euarieds G
2) £ %Curs
(3) GCsige e’%bemmru;ub
(4) 5@ <D, EERTWILD

@) (D) wogid (2) wrGo - (B) (@) wrew

© (D) opgid (4) we G D) (@); (@) wpmwd> (3) LD
(E) een. QgAwaderenay

62. Who among the following is the only woman historian to have
written a historical account of Mughal period?

\,(»Kf Gulbadan Begum , (B) Zeenat-un-Nisa Begum
. (C) Jahanara Begum "~ (D) Zeb-un-Nissa Beguni

" (E) Answer not known
el LTS ERET  (psTLfsallar sTosd D BB eurembm  Flapesamer
gl @Cr Quar euranbn <ANwir w2
Q)  souger Giimh (B) s)emng-2_en-Hlar Guaid
(C) ssemmym CGuah (D) Qgui-2 ar-Hler Gusbd
(E) efer Osfluaidame
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63. Which one of the following is false with regard to the reign of
Ahmad Shah?

(A) He transferred his capital from Gulbarga to Bidar (1425)

(B). The rivalary between the Dakshin party and foreign party
became accentuated during his period

(C) He conquered Warrangal in 1424-25
\/@{ He annexed the kingdom of Gujarat to his Empire

(E) Answer not known
" @sing) egrellar g Aulda EG GHUALaupPld eig sepTaTg?
A seepser Gourssneldmbs S_TmEE wrbplenm (1425)

(B) s stosded  Lefar  @ueipeh  daelpribs SR
@ Werar Gorge LHH CusIUL{H ubss ’

(C) 1424-251b Sy&@mged eimyhisd eramp @b aLuUDDLILLLS)
D) GRS Srmes par GuTs 6 Glamamds)s Qe
(E) e&len QsMwelidens

64. Who called India as “Ethnological Museum”?

(A) R.C. Majumdar (B) R.K. Mookerj1

(C) H. Risley W27 V.A. Smith

(E) Answer not known |

@pHur e ‘nafls @Goddler é{@réjaarn'_a?]u_lasl.b’ TG <IN LPSEHEUT WITIT ?

(A) =yir.8. wegebSTIT (B) csclpr’r:@as. (WPSITEY
(C) Gamés. fleved D) &f.g. vl
() &fenr CQzflweidome
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65.

66.

Which of the following Harappan sites. are not in India?

\M MohenJodara and Harappa < (B) Lothal and Kalibangan'

(C) Bhanwali and Ropar (D) Surkotada and Dholavira
(E) Answer not known |

SipssaTeubmier aTbg @oruur prstss serhsdr sHOUTWS @bsluireile
Blevensn ?

(A) QursgrestGrr wppibd apgriur  (B) Gangsd whpib srelubise
(C)  vemeured whHyb epUmT (D) &iGasrnir wpgid Caramaiyr
(E) ofenL @g,.:ﬂu_lcsﬁ]c;bsmu

Around 25 districts in the east coast; 10 in Tamil Nadu
7 in Andhra Pradesh, 6 in Odisha and 2 in West Bengal -
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severe categories?

(A) Chilika region
(B) Nellore region
(C) Machillipatinam

\M Sﬁndarbans Area -

(E) Answer not known

Aées s_pamle som 25 Breul L ks slpBriger 10, gbdyreda 7,

guueredey 6, wHmL  CuhHE @Jmasg,g‘,]m 2 - @presed Luesermed
LTESs UL Gg g e, QapBld, Bl u@gﬂu_lrrmgj shenLwTar eIansL]

Huesaflds 70 egels urdlienu ienub?
(A) fdar uad

(B) Gpogrt ugH

(C) w&EASLILC gD

D)  spsresamiLEs

(E) eferL Qgfuelerena
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67. A tribe of India 1s

(1
(2)
3)
(4)

Connected with Eklavya in the epic Mahabharatha
Lives in Aravallis, Vindhyan and Satpura Ranges |
Hutment on a small Hillock

Maize is their staple food

Which tribal group of the following suits for the above conditions?

(A)
(B)
I
D)
()

Gonds
Todas
Bhils
Santhals

Answer not known

Epssngnb smonsErsGNu @bilwursiler ¢ L@ g uiemd erg ?

(1)
(2)
3)
(4)
A)
(B)
(©
D)
(E)

&TUTTS BH&rs EsTIUTSSITD 6 &6 eI e GG m_TLjepL_ UG TEET
praude), elBSw HDID sSLTT waas ST isafld airhLafseT
APw GaTmsamed (Ghnd HHENLSGSHED

wsste GererGo Wygrar o aue)

Gamesor(hHeT
G miiraer
Deveiv

FTHGD SHET

efenL. Gaflweilerene
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68.

69.

The northern upland of the Karnataka Plateau is known as

& Maluad .

(B} Betwa,

(C) Dhasan -

(D) Maidan

(E) - Answer not known

SHBTL& Ly L68luSebr QUL& Blaoriuriy T
&mlepésasuu@é],mgj.

Q)  oropre

(B) Qureur

(C) sreer

(D)  eowLmer
(E) efer_ Qsfwelcrena

Which Ministry launched the Dlgltal Intelligence Platform (DIP)
and ‘Chakshu’ fac111ty on Sanchar Saathi portal?

(A) Ministry of Power
(B) Ministry of Civil Aviation

\M Ministry of Communications and Informatlon

(D) Ministry of Earth Sciences

(E)  Answer not known

Grpg, DADDFSHD FEHEMIT Err‘e_r,g‘,] Gurr_Lelléd 4l L & m@mamday g@rn.o HmILD
‘Frdag ausdlew QBT hiduig 2

(A)  Ber oanEssn
(B) &feflev aflomer Gurs@GauTsEs imbéssh

(C) seaud Om_iiy s@wéssd

D) Yy efefud smwsssd

(E) ofen_ Qsfwefmena
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70.

Match the following
Part I

(a) India

(b) Japan

(c) United States

(d) China

Codes :

@ ® © @
A) 5 2 3
B) 2 | 4
2 4 |
D) 5 B 1
(E) Answer not known

b L0 U

Aenaymeleralbann CUTIHES!S :

L@d [
(a) @bl
(b) suumar

(¢) =@wllssm

(d) Samr

GOui@Rser
@ G0 ©
(A) b 2 3
(B) 2 1 4
(C) 2 4 Ik
(D) 5 3 1
(E) efen Gsflwuefedane

b o T o

CCSE2T/2024
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Part II
Bald Eagle
Dolphin
Peony
Cherry blossom
Royal Bengal Tiger

ned 11
QU(LpHENS H(DS
L_meb19leor
IGwira
Q&rfl weo &Sl

STF QUmIG L6



T

i

Who had been given the “Shilp Awards” by the Ministry of Textiles
and Industry? :

(A) tolegendary drama artists
(B) to rural women entrepreneurs
(C) tolegendary farmers
to legendary crafts person
(E) Answer not known
gajafl  wHmib Gsmiflersienn SDDEFESHTD  Fedl Qﬂ@gjasm WIM(B (&,
QUBISLLRE DS ? '
(A) yspQupp Briss EXOEHTHEHES,
B) &rmsriyn Ques Qs apenarGaurtt
€) yspQuip eusmse
D) yspOupp eseemans FEDEO(GH F ST
(B) aleL GgNweldama |

Some parts of the moon never see sunlight. Because the axis of the
moon is to the direction of the Sun’s light.

M Perpendicular (B) Parallel

(C) Same (D) Opposite

(E) Answer not known

Bloefler o LigHsar LGLImgILh @rﬂu_l gafllleeary LTTésCsuldeama. aen

carpred  Hloeller wids Glu geaflufen Henedse 25
S(mLULSTD.

(A) Qeuessrs (B) @Qeverrwns

(C) swws D) edyra

(B) e Qafluefoma
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73. Match the following :

(ay COs2 1. Ground water pollutiori and
particulate in air

(b) NO« - 2. Global warming

(©) Lead (Pb) 3. Acid rain

(d) Hydrocarbons (HC) 4, An ingredient for the formation.of
~ photochemical smog

@ @® @@ @@
\J‘{ 9 3 1 4
B) 2 1 4 3
© 3 2 1 4
™ 2 4 3 1

(E) Answer not known

Seraipeuareuhapll GUMhEES :

(@) COq 1. fesssy bi orsur® wHDID SrhHled
2 _@Ten F&HEH(H D&

(b) NOx 2. yei Gaiiuwuiorged

(¢) arfwn (Pb) 3. e weip

(d) aant Crrariuer (HC) 4. gefl Cauflllue emsuaf

o (HEUMGEUSDEHTET §3(H eLp @O L1 6l LI MR
@ ® o O
A) 2 3 1
B) 2 1 4
€ 3 2 1
D 2 4 3
(E) ofen Qaflueiierane

o W
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- 74.  Assertion [A] : 2-4-Disused as herbicides.
Reason [R] : 2-4-Dinduces production of fruits without
L fertilization.
(A) [A] is true, [R] is the correct explanation
(B) . Both [A] and [R] are true
(C) [A] is false, [R] is true
[A] is true, [R] is not the correct explanation -
(E) Answer not known

apn [A] 1 2-4-D seasQsradurs Qrwu RS g
srpamd [R] 1 2-4 - D smeyprosd safl 2 (meuns SRS Dg).
(A)  [A] sfwrang), [R] efwner efarssio

B) Al vppid [R] sfunarg

(C) [A] sauprang), [R] sfwreng

D) [A] sflwrarg [R] sfwner sderésifldama

(E) - Seor Qzflwefmena

75. . Objectivity, Predictability and Generality are the features of -

uﬁ( Scientific method -

(B) Scientific enquiry

(C) Scientific attitude

(D) Scientific experiment

(E) Answer not known

UDeUWLIUL L Seten, parsafiuyssareny  wHpid  QuUTg@LSsETanD
<2 dweney W96 DEFRISETTS HHepEDS!.
@) ePdue gop

(B) <iflelwue Serrenamr

(C) <fleflued wariurereLo

D) @feud uAGstsamen

(E) &fev Ozfwedcrana
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76. Identify the correct expansion/meaning of “CEDAW”

(A) Convention of the expansion and development of Adolescent
Women '
(B) Convention of the execution of different ideas for women
\'(,Qf Convention on the elimination of all forms of discrimination
against women
(D) Congregation of the eradication of all forms of discrimination
against women
(E) Answer not known
Qenaumeuaraipdle> “CEDAW”  erémp afNeunssgdar) Gurmaner  sflunss
- Caipshiésalb. '
(A aenr@embd Lhauli@ueiTsefier aparGanhpid HOID effleurés wrHTE
(B) Quans@psderar LoGain &HESI(HEUTSSEISMmET BenL_ (e DL (hiSSID
LM BT ()
(C) QuensErss Himar @easg 665 LMGUTL Qb Bé@eusnhamer
LomBT(H
D) QueTsEESE THITET PSS 6l LINGUTL G earnb RlLLIGHETER
Femil
(B) eflevL Gaflwuaieeane

77. Which one of the following 18 a one—stop. source for all the geospatial
data for the state of Tamil Nadu? '

(A)

- ©
D)

()

Tamil Nadu Geographical Positioning System (TNGPS)
Tamil Nadu Geographical Information System (TNGIS)
Tamil Nadu Global Information System (TNGIS)
Tamil Nadu Global Positioning System (TNGPS) .
Answer not known

SODETEH rblosHhanaT Siamarssl LeSudwid sreysEns@n Searelhalamebile
g @Cr @Lsdler o drarg)?

(A)

®)

(©)
D)
()

sODETEH YefuGued Haaoiuhisssd oenuy
sBpBErE el g&aid el

SPHTH 2 OSETTEHL SHEUD DL
sUPBTH 2 eserreiiu BlaelitiGSsed SienLbLLy
eflenL Ggfluietlerene
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78. The United Nation has declared 1987 as
(A) International year of Girl Children
\}B( International year of Shelter for the homeless -
(C) International year of Women
(D) International year of Cleanliness
(E) Answer not known

1987 - 8 —— o5 28w pri( U heilssg.

(A) sreuCse Quar GLE®SSET 2L6m() '

(B) &ieuCss 2 wpeilib Qodnseis@sse 2 ampeiLid GULDIBIEHLD <2467 (H)
(0 #reuBss waalisarar < amE

D) sreuCses ssss8Dsmar 2y
(E) oflen- Az fweldene

79. In which year Flipkart signed a memorandum of understanding
with the Tamil Nadu MSME Trade and Investment Promotion
Bureau?

A 2021
(B) 2018
(C) 2001
(D) 2011
(E) Answer not known

by am® deflusril, sWpsr® MSME earsssb  wmmibd (505@51@
sardigafliy Yl pgrenrie) Lallussgiidar QUUBSSS D&EWL(pSSH L g2

(A) 2021

B) 2018

(C) 2001

(D) 2011

(E)  eflan Gsflwefcrena

B | 53 CCSE2T/2024
[Turn over



80. Match correctly the following foundations with their corresponding

names :

(a) South Indian Liberal Federation

(b) Kudiyarasu Journal

(c) Emergence of Labour Oragnisations

(d) Swatantra Party

@ ® ©
(A) 4 2 1l
(B) 4 1 2
w4 31
D) 3 4 1
(E) Answer not known

Qemaumd  Sigdsethsamer g CeTLijenL

QuBSSIs ©

(d)

b D L2 O

(a) Qseraibdu peo o fepnd smisbd

b) ®gurs s

(c) Qsmfemant Sawliysafear CamHOLD

(d) sapdr &8

@ ® ©
A) 4 2 L
® 4 1 2
C) 4 5) l,
D) 3 4 1
(F) &flen Gzfluielerana

CCSE2T/2024

@

DO b o W

b4

1
2
3.
4

S S

A. Singaravelar

C. Rajagopalachari
Thanthai Periyar
C. Natesan

QuuiraGerr(l  FRlwns

A. SrusrrCeueir

C. prgGarumams
gheng Cuflwimd

C. pGL et



81. According to 2011 census, the density of population in Tamil Nadu .

18

(&)

450 per square km

\,QBY 555 per square km -

©
D)

650 per square km
750 per square km

(E) Answer not known

2011 waser Qzrens a;ema;@as@uﬂarrmq_ SOIPBTL g6 10ESET GBI LTS

(A)
(B)
(O
D)
(E)

450 @ sgiy £.18
555 qm sgy 4.8
650 g sz 8.5
750 g egiy &.15
eflenL Ggfweterena

82. Tamil women who were competent in literature, music and drama
were called as

v&ﬂ Mudukkuravai

(B) Mudinmagalir
(C) Viraliyar

D)

Kanigaiyar

(E) Answer not known

Geosswubd, @ens BIL&D @J}aﬂmmmﬁlw Cair&sl Qumm g,uS@u QuarseT

(A)
(B)
©
D)
(E)

GTETD HeMLPESHLILIL L _GTIT.
(PEIHSDME
(PIg-GITLOGGITI T
eSlredlwtrr
FHewTl W

aflen. GgMwelcama
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83. Choose the right matches among the following.

(1)
(2)
(3
(4)
o
(€)
(E)

Thiru.V.Ka —  Desabakthan
Subramania Bharathiyar — Hindu

Annie Besant —  New India
Kasthuri Ranga Ayyangar —  India

(1) and (3) only (B) (1) and (4) only

(1), (3) and (4) only (D) (2), (3) and (4) only

Answer not known

Gereumid eumas@ QaLCw sflwrar urnmpsshsamer Gaira) Celwab. -

(1)
(2)
(3)
(4)
(A)
©
(E)

84.
(A)
©)
(E)

K-
- ©
(E)

Hm.adl.a —  CaeLisge

srignenflul Lrgdum —  Obs

N ot [ATRE: 2= — By, @bSwr

sevgrf s euwmsTs 0 —  @pdun

(1) wpmid (3) wr G (B) (1) wpgd (4) v Gid
(1), (3) wpmd (4) L Eb (D) (2), (3) oppid (4) b
elteni - G fluwielerena '

original name was Kumarasamy Nayak.

Kattabomman (B) Oomaithurai
Dheeran Chinnamalai (D) Marudhu Pandiyar
Answer not known

&1 @uiH@LwT @GwrgEmdl BruISsT.

&L L GLUmbLoe DEIENLOH S| 6D
&retr emamnanay (D) wmg wremgur
efenL Gz flwefcene
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85.

86.

According to Valluvar, what is the weapon to destroy the arrogance
of foes?

(A) Heroism (B) Force

(©) Fort \ & Wealth

(E) Answer not known

‘Lavsaflar  siausms SILEGD WSD TN GUETERAT  THMETS
GO UGG mir? |

(A) &Sy (B) uenL

(C)  yanr | ' D) Gseveuid

(B) oo Gzsfwuefdeme

[11

that man desire it is plain whom others wealth
Delights not, feeling envious pain”.
Whom does Thiruvalluvar refers to in the given above Thirukkural?

\k‘ff Nor wealth nor virtue does that man

(B) Man of envious heart
(C) Envy they have within
D) Goodman

(E) Answer not known

“ A perTésLD

GuawmTgl Si(pEsmIT LTaT .

T WITEDT g@mm@w} SOLAGApT?
(&)  Siper gssind Geudm_ngmar

B) ey Apgresgran

(O) Siwsstn 2 @wren

(D) Qesualumar
(E) Ao sfusfdame
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87. What kind of Dhoti worn by maternal uncle while singing lullaby
you identified?

(A) Silk Dhoti

(B) Sandal Dhoti
Thuvai Dhoti .

(D) Mallu Dhoti

(E) Answer not known

ST LUrLeleé smimTner sl aupb Canly euams gl ?
(A) @ Geulig

(B) epser Ceulig

(C) gee Cauliy

(D)  wevgy Cail iy

(E) ofenr Gzflweideaa

88. “Utruzhi uthaviyum uruporul koduthum” —
What field is eulogised in this Purananootru Paadal?
V& Education (Kalvi)
(B) Charity (Eegai)
(C) Integrity (Nermai)
(D) Truth (Unmai)
(E) Answer not known

“o Ho o gelub 2 mEuTmeT HsTHSgIb” —

Cuhsramib LDBETEIHMLILT_ G B ersar fpliat eusdumsgdenpg
A)  soef |

(B) wea

(C). Gpirenio

(D) e amenwn

(B) e Qsfuieidena
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89. Choose the Sangam period in which the poet Nakkirar was

90.

considered the most predominant poet :

(a) First Sangam

(b) Third Sangam

(¢) Second Sangam

(d) Fourth Sangam ‘

@) (@ only & () only

(C) (o) and (d) only (D) (b) and (¢) only
(E) Answer not known

&G G]asn@asaauul_@mm ST ;_r;as&urr s &Eu LoeITTE TheE Fhis
srasmss GerbselrTas &ESIUBS DTT?

(8) s stsbd
(b))  eparpmb FhEsD

(c) @reawrLmb ghisb
(d) prerasmbd shsD
4) (@) vihw (B) (b) vpw

O (0) wpgw (d) LLE® (D) (b) wpgib (€) WD
(E) ofer Qsflweldana

One side of a rectangular field 1s 15 m and ohe of its diagonals 1s
17 m. Find the area of the field.

(A) 80 m” (B) 100 m?
(O BLGmS d oy @7 120 m?
(E) Answer not known

e Qsias ame Hosfar o Lss <era; 15 B bHIb a{gaﬁ @
apanaeflii b 17 15 erafler, Ravgder urlietency sreams.

(A) 80 .52 (B) 100 152
(C) 110 52 ol T (D) 12082
(E) e Gsflweidee
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91.

2

If 1, 2, 2, 3, 3, 3 are the faces of a die, 2 such dice are rolled. In how
many cases 214 die face is bigger than 1st die.

@A) 3
(B) 5
(C) 8

w11

(E) Answer not known

1, 2, 2, 3, 3, 3 wsewdliiyser Qarear. @@ usamLger e ml L LiLfib Qumipsl,
s useLWlar (ps whiemn AL @ramreug useLuler aps Sl
agla;mrra; @@é;a; ULl L| SelT ﬂggmm?

(A) 3

® 5

(C) 8

D) 11

(B) e Gsflueidane

If Rs. 10,890 is divided among A and B groups in the ratio 4:5 then
the group B’s share 1s

(A) Rs. 1,210
(B) Rs. 4,840

W€l Rs. 6,050

(D) Rs. 5,445
(E) Answer not known

. 10,890 &g A wpmidb B eremm @ Guwssesse 4:5 aan odssHe
9fsgs Qar@ssrd B @uwelng fe&@h Cgreas ererer?

A) e 1,210

(B) m. 4,840

(C) . 6,050

D) . 5,445 | .
(E) &flen Gsflwaiidvens
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cat=abc

OBk = TE
dog=def
Then which one of the following may be equal to m—?
: co
cba cba
Ay — B, =
@) aec ®) ace
cbn chn
) e
& ace ~ aec
(E) Answer not known
cat=abc Far i R i ] i K b .
ot s Ter  Q(BHST — GresLig QU (U EreL 6T Grg,mrrs-u
GOlS&EILLamb ?
cba cha
Ay —= By i ===
5 aec - e ace
bn cbn
G20 Dy s
© ace o aec

(B) e QsAweiidana

94 E&GBDM4NKH2ACZSV3F1JLOQ5PR
What will come in place of question mark in the following sequence?
GDR BMP D45 ?

Wi~ MNQ (B) 4NQ
(C) MKO ' D) M4Q
(E) Answer not known
E&GBDM4NKH2ACZSV3F1JLOQ5PR
llarm @A R&E@ ufors eumbd QT arg ?
GDR BMP D45 ?
(4) MNQ - (B) 4NQ
(C) MKO (D) M4Q
(E) e9en_ Ggflurederane

B | 61 ‘ CCSE2T/2024
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95. A can finish a job in 6 days whereas B finishes it in 12 days. The

time taken to complete the job working together is ——?
(A) 6 days Vaa( 4 days

(C) 8days (D) 3 days

(E) Answer not known

A eanuaut g Cauoeamw 6 prisalgib B adiuer 12 prisafigid apigliui
arafldr, @maumd @amwras Goibgl <ibs GCameenw dhsmen BT gatled

(PG LT ? _
(A) 6 pmiser | (B) 4 prisdr
(C) 8 pmgar (D) 3 prser

(E) e Qsflusldana

06. A swimming bath is 24 m long and 15 m broad. When a number of
. men dive into the bath, the height of water rises by 1 cm. If the

average volume of water displaced by each man be 0.1 m?, how
many men are there in the bath? a

A) 32 W& 36

©) 42 (D) 46

(E) Answer not known

e fesd @and 24 Br i Berapid 15 SLLE Sis@pd Canan. gi. GO
aanafismedionar arsdT Ess GosHd GHEGL Gungl, Biiter 2 wigib

o Gs.8 2 wirdpgl. e ar syrsfluns GeuelGuppib BRdr ere 0.1 Lign
srafle ips Béed GapHld asgwarn EnsdT o araTe? '

A) 32 (B) 36
(C) 42 ' | (D) 46
(E) oo Gzflueiidena
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97. Find the simple interest on Rs. 68‘,000, at 1'6%% per annum for

9 months.
(A) Rs. 7,500 \(Bf Rs. 8,500
(C) Rs. 6,500 (D) Rs. 5,500

(E) Answer not known

2eh aily alfsw 162% eafie m. 68,0006 garug wrshsesés s
QUL lq. GTETE? _ |

A) . 7,500 B) . 8,500

(C) em. 6,500 D) . 5,500
(E) efer QsRiwuefdana '

98. If A:B:C=2:3:4 then %g% is equal to

A) 8:9:10 (B) 8.:16:24

‘ \;2(8:9:24 D) 24:9:8

(E) Answer not known

A:B:C=2:3:4 aalld %%% &1 &y
(A) 8:9:10 (B) 8:16:24
(C) 8:9:24 . (D) 24:9:8
(B) " e Gsfuadhana
B 63 . CCSE2T/2024
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99. Reaching the place of meeting 20 minutes before 8.50 hrs Sunil
found himself thirty minutes earlier than the man who came
40 minutes late. What was the schedule time of the meeting?

(A) 8.00 (B) 8.05

©) 8.10 | -\ 820

(E) Answer not known

sl b gaki@asne 20 Hifiin gperaGl sealld el 8.50 waflsE
Qeempri. <ikiE sl L goiGaushe 30 HllLb peaGr abs) AL gns
o annibaTr. @@ walsT @il sHAHEG 40 HiflLid sTOFTOSLTE QBT 6Testled
gl Lib glaums GHss CHyb eremer? '

(A) 8.00 | (B) 8.05

(C) 8.10 ' (D) 8.20

(E) e&lanL Qg,rﬂu_laﬁlei)eba)

100. A can do a certain job in 7~1§ hours. B is 20% more efficient than A.
How many hours does B alone take to do the same job?
(A) 5 hours (B) 51 hours

\% 6 hours (D) 63 hours
(E) Answer not known
‘B’ sramuautr ‘A’ ardmuaseny 9L 20% eifswns Cama Geudprr. A Ga
Ceuanerenut 7% wenfl Cprsdler Gauig py&ElpmT erafldd, B ol b
Caumaen Qaiig (pigss arsseman warfl GHID ThHSSIE QameTeumi?
(A) 5 wenfl Gprbd ' (B) 5% wewfl Cpybd
(C) 6 waf (3;_5er'§ : (D) 6—% wanfl CHrD
(E) eofer Gsfluefeeane |
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LGS -, — Qurgl <y mided
~ Part-B ~ General English

armésar :101-200 Qs wHLQUETSET :
: 150

Questions :101-200 _ Total Marks

150

101. Identify the figure of Speéch employed in the following lines.
“The bleeding bark will heal”.
M Personification - (B) Simile
(C) Metaphor (D) Oxymoron
(E) Answer not known |

102. Lights flicker on and off
But fear takes over me.

Identify the Onomatopoeic word in the given stanza.
(A) fear : (B) lights

W& flicker - (D) on and off
(E) Answer not known‘

.103. “We were taken from the ore-bed and the mine,
We were melted in the furnace and the pit —
We were cast and wrought and hammered to design,
- We were cut and filed and tooled and gauged to fit”.

What is the poetic device used here?
(A) Oxymoron (B) Paradox
(C) Assonance 7 Anaphora

(E) Answer not known
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104. “But of late, my computer has been behaving badly too,
Tt is so absent-minded, that I don’t know what to do”.

Mention the figure of speech used in the above lines.
~(A) Simile \,(‘B{ Personification
(C) Metaphor (D) Repetition

(E) Answer not known

105. But I know no better spectacle
Than a comet in full flight.
What do you mean b& ‘spectacle’ here?
\jKr unusual event that attracts attention
(B) usual situation that attracts distraction
(&) expected event that attracts attention
(D) unexpected situation that attracts distraction

~(E) Answer not known

106. It’s written in victory and defeat

And every trial a man may meet.
What does ‘it’ refer to in the above given lines?
(A) Spbrts (B) Hope

\jﬂf 'Courage (D) Patience
(E) Answer not known

CCSE2E/2024 66



107.

108.

109:

“She puts her life at Stake”

Give the meaning of the word Stake

(A) brisk (B) courage

(C) ease ! u’.Bf risk

(E) Answer not known

Strong is she in her faith and beliefs.

“Persistence is the key to everything”, says she.

What does the word “Persistence” mean?

(A) .grief (B) groans

vﬁe‘r determination - (D) moans

(_E) Answer not known

It’s helping your fellowman to score

When his chances hopeless seems;

The word ‘it’ in the above lines refers to
(A)  hard work
(B) best work

\,GZ)’ team work -

(D) smart work

(E) Answer not known
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110. Match the Poets with their Poems :

() Mary Botham Howitt 1. The River

(b) Caroline Ann Bowles 2. The Stick-together Families
(¢) Robert Frost 3. The Spider and the Fly
4.

(d) Edgar Albert Guest Stopping by Woods on a Snowy
‘ . Evening

@ b © @

Wi s 1 4

2
(B): & < w2 8 s
) 3 4 2 1
D) 2 4 1 3
(E) Answer not knewn

111. For simple sheep; and such are Daffodils ...
With the green world they live in;
and clear rills ...

The above lines were written by

(A) W.B. Yeats (B) Percy Bysshe Shelley
\‘(2)' John Keats (D) William Wordsworth
(E) Answer not known '

112. “Come you back unto the fireside and be comrade with your kin”

This lineis taken from the poem

(A) The Poison Tree (B) The River
. The Stick-Together Families (D) Life
(E) Answer not known

113. “Still seeking what I sought when but a boy,
New friendship, high adventure and a crown”

Who wrote the above lines?

(A) Khalil Gibran _ \,(r]'-( Henry Van Dyke-
(C) H.W. Longfellow (D) John Masefield
(E) Answer not known
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114. The woods are lovely, dark and deep

s
Are the brothers and the sisters who together share their fun.

116.

18

But I have promises to keep

Who wrote the above lines? .

\4“( " Robert Frost

(C) Nisha Dyrene

(E) . Answer not known

(B) Sarojini Naidu
(D) John Masefield

But the gladdest sort of people, when the busy day is done,

Who wrote the above poem?
(A) D.H. Lawrence
(C) William Wordsworth

(E) Answer not known

The word ‘Plaintively’ means
(A) Happily

(©) Joyfully

(E) Answer ﬁot known

Prospero’s daughter name was
(A) Portia
(C) Juliet

(E) Answer not knhown

69

M Edgar Albert Guest
' (D) Mary Botham Howitt

W5 Sadly -

(D) Depressively

(B) Desdemona

y,aﬂ Miranda
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118. ‘Practice hard and see what magic can transpire’, was the advice

" given by to Sachin Tendulkar.
\M Ramakant Achrekar |
- (B)  Ajt

(Cy Sunil Gavaskar

D) Saéhin’s father

(E) Answer not known

119. Tom used the pain killer to
A) take cai'e of his health
\/B{ mend the crack on the sitting room floor
(é) to Cure Becky Thatcher
(D) help his aunt

(E) Answer not known

- 120. The adventures of Tom Sawyer is a
(A) Short Story v&{ Novel
(C) * Fiction _ (D) Tale

(E) Answer not known
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121. What'is the landform formed by silt called?
J& Alluvial - (B) Sinkhole
(C) Meander (D) Fluvial Terrace

(E) Answer not known

122. Which historical character inspired Young Indira?
(A) ' Rani of Jhensi & Joan of Arc
' (C) Sarojini Naidu (D) Vijayalakshmi Pandit

(E) Answer not known

128. Why did we call Dr. Salim Ali as “Birdman of India”?
(A) His research in climate change
v(fo His immense contribution to the field of Ornifhology
(C) His research in Orthopedic )
(D) His research in Water Movements

(E) Answer not known

124. In whose biography do you find this statement?

I would sweep them out.of existence if I had the power.
(A) Jawaharlal Nehru (B) Nelson Mandela
\,(Zf Msahatma Gaﬁdhi e (D) Abraham Lincoln
| (E) Answer not known -
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125. Dr. Salim Ali was introduced to the serious study of birds by

v“() W.S. Millard (B) EHA
(C) Norman Boyd Kinnear (D) Amiruddin

(E) Answer not known

126. “Elephant Rides are for the Royals. Forget this Dream” — Who said
this to Rani of Jhansi?

(A) BajiRao \;B)/Moropant Tambe
' (C) Gangadhar Rao ' (D) Pandit Dikshit

(E) Answer not known

127. What was the name of the system that Nelson Mandela fought

against?
(A) Civil Rights M Apartheid
(C) Violence (D) Sathi

(E) Answer not known

128. Abraham Lincoln Proclaimed the abolition of s,iavery on

(A) May 1, 1863 \,(6 January 1, 1863
(C) January 1, 1864 ‘ . (D) May 1, 1864

(E) Answer not known
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129. Match the words with their phrases :
Words Phrases:
(a) Friendly relationship 1. ranout
(b) Meet by chance 2. get along with
(¢) Use completely 3. goaway |
(d) Leave from.the place 4. come across
@ G © @
A 3 2 1 4
B) 3 1 4 2
wel 2 4 38 1
@y, ~"2 | 8y 4 X
(E) Answer not known

130. Choose the correct synonym for the underlined word :

Fill ail the bowls, tubs, pails and pitchers with fresh water.

(A) mugs - B jugs
(C) Dbuckets (D) pots
(E) Answer not known

131. Choose the correct ‘Synonym’ by matching Column A and B :

Column A Column B |
(2) Affluent 1. Widen |
(b) Dilate 2. Spire
(¢) Smacks 3. Wealthy
(d) Summit 4. Drive

@ ® @@ @
-1 Besn B 4

- ®B). 2 1| 3 4

wer 3 1 4 2.
D 3 4 1 2
(E) Answer not known
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132.

133.

134.

135.

136.

Add a prefix to the word ‘Natural’ to complete the sentence.

His job 1s to investigate natural phenomena.
(A) in (B) non
N8 super (D) pro
(E) Answer not known
Fill in the blanks with suitable article.
India 1s largest democracy in the world.
(A) an @ the
(C) all . (D) a
(E) Answer not known
Identify the correct preposition from the options given below.
I will have finished this essay Friday.
(A) in (B) on
© at W) by
(E) Answer not known
Choose the correct question tag :
This is the bus that I have to travel, 2
(A) 1is this? (B) isn’t this?
C) s it? WPy isn't it?.
(E) Answer not known
Select the suitable tag.

He lives in Europe, ?
(A) isn’t he? (B) wasn't he?
(C) didn’t he? BT doesn’t he? /

(E) Answer not known
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137. Match the Non-finite verb correctly :

Column A Column B
(a) Walking is healthy habit 1. Infinitive

(®) -Ilike to walk early in the morning 2. Present Participle
" (¢) Having walked a long distance
: I felt tired 3. Gerunds
(@) These are my walking shoes 4. Past Participle

@), sz, ), (d)
@ ah e s
& 8 1 4
© 1 3 .4
D) 3 1 2
(E) Answer not known

INESECES

138. _Identify the sentence pattern of the following sentence.

I painted the car blue.

e svoc - (B) SVC
© SvA | . (D) SVOA
(E) Answer not known

189. Identify the sentence pattern of the following sentence.
In 1998, Frank moved to London

A& ASVA (B) ASVO
(C) ASVC - (D) SVIODO
(E) Answer not known

140. They rejoined the group as Sarah passed out and coffee.
(A) desert (B) dirt
@7 dessert D) dish

" (E) Answer not known
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141. Select the grammatically correct sentence :
(2) My son is fond of music
(b) My son is fond to music
(¢) My son is fond in music
(d) My son is fond with music
(A) (b) and {¢) are correct (B) Only (d) is correct

(C) (a) and (d) are correct \,(Er Only (a) is correct
(E} Answer not known ~

142. Which of the following is a noun? _
(A) Put (B) Walk
W2y Sun - " (D) Call

(E) Answer not known

143. A of birds were flying on the sky.
(A) swarm of (B) group of
flock of - (D) herd of

(E) Answer not known

144. Identify which is the correct singular word and select the answer
from the codes given below.

(a) Crises
(b) Media

(A) (a)is a singular word
(B) (b) 1s a singular word
. {(C) Both (a) and (b) are singular word
\)Hf Both (a) and (b) are plural word -
(E)  Answer not known
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145. Foreign + Exchange =

Find the blended word.
(A) . Foreign change | (B) Foreign exchange
(C) Forex change - \'(B)' Forex .

(E) Answer not known

146. Which twd words blend together to form the new word ‘Camcorder’?

(A) Cam + recorder \,(Bf Camera + recorder
(C) Camera + order - (D) Cam + corde;‘
(E) Answer not known

147. Which of the following is correct for?

Overcoat
(A) Noun + Preposition (B) Noun + Noun
(C) Verb + Noun \,@B‘)’ Preposition + Noun .

(E) Answer not known

148. Identify the compound Wofd that is :
Gerund + Noun
(A) Cry baby (B) Sun rise

Bleaching powder’ (D) Sun set.
(E) Answer not known

149. Replace the underlined word with its American word :
We should use the Bin for the garbage.

(A) Dust Bin | @S Trash Can
(C) Garbage Bin (D) Trash Box
(E) Answer not known
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150. And I Sunned it with smiles

Identify the alliteration in the given line.
A I-it (B) And — with
\'(C{ Sunned — smile (D) Sunned — with

(E) Answer not known

151. To win, run as fast as the wind

- Identify the.figufe of speech in the given line.
(A)  Personification - (B) Metaphor

WO Simile - (D) Anaphora

(E) Answer not known

' 152. Which of the given option is a Metaphor?
(A) Life is like a chocolate box |
(B) Raj is like his twin brother

M His words are pearls of wisdom -
(D) The bus is slow as a snail

(E) Answer not known
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+ 153, Courage 1sn’t a brilliant dash,
A daring deed in a moment's flash;
It isn’t an instantaneous thing
Born of despair with a sudden spring
Write the Rhyme scheme of the poem.
(A) ABAB (B) ABBA
W& AABB (D) AAAB

(E) Answer not known

154. Speak gently to the young, for they
Will have enough to bear —
Pass through this life as best they may,
‘T is full of anxious care!
Write the Rhyme Scheme of the given stanza.

AL ABAB ‘ (B) ABBA

(C) AABB (D) ABAA
(E) Answer not known

155. And all I ask is a windy day with the white clouds flying,
And the flung spray and the blown spume, and the sea-gulls crying.
The rhyming words in the above lines are
(A) windy, white (B) spray, spume
(C) clouds, gulls : \‘(B)’ flying, crying -
(E) Answer not known ' '
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156. And the wheel’s kick and the wind’s song and the white sail’s shaking

Pick out the figure of speech given in the above poetic line.
(A) Metaphor (B) Simile

\M Alliteration (D) Hyperbole
(E) Answer not known

157. “I must go down to the seas again, to the

Vagrant gypsy life”

Gypsy life means
(A) A Sea Captain’s Life
\/EY A Wandering Man’s Life
(C) A Historian’s Life
(D) An Explorer’s Life
| (E) Answer not known

158." “But we ants never borrow;
We ants never lend”
Why do you think ants neither borrow nor lend?
(A) Ants are not wise and hard working

(B) Ants are lazy

\}Z{ Ants are wise and hard working -
(D) Ants are wise and silly
(E) Answer not known
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159. You were the dad chosen for me

The author’s dad was chosen by

(A) Mother : - (B) Neighbours
& God g (D) Friends
(E) Answer not known '

160. Then my computer caught a virus, and fell very sick,
So I had to call in a doctor, double quick.

Why did the poet call the doctor?
vrp‘fr as the computer fall very sick

(B)
(©)
D)
(E)

as the computer fall down
as the computer got hurt

as the computer fall asieep

Answer not known

161. “And all I ask is a merry yarn from a laughing fellow-rover,
And quiet sleep and a sweet dream when the long trick’s over”

The above lines are in the poem —

(A)
- ©
(E)

A Thing of Beauty \,GEr Sea Fever
Lessons in Life . (D) Making Life Worthwhile

Answer not known
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162. Autumn is English
in red, yellow and brown
Autumn is Indian

Whenever leaves fall down

Who wrote the above poem?
\,(Ar Nisha Dyrene (B) William Wordsworth

(C) D.H. Lawrence (D) Mary Botham Howitt
(E) Answer not known

163. “And one day, my naughty computer actually gobbled a worm,

- And behaved so erratically that it made me squirm”.

The poet was made to squirm because of the —— behaviour of
the computer. |

(A) absent-minded (B) dreadful

M erratic - (D) hasty

(E) Answer not known

164. Every soul that touches yours
Be it the slightest contact

Who wrote the above lines?

(A) William Shakespeare (B) Robert Frost
W@~ George Eliot (D) John Masefield
(E) Answer not known
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165. Who was chirping at the edge of the woods?
(A) Cow (B) Monkey
(© Dog & Birds

(E) Answer not known

166. On the way to his home, Peter stopped to pick '

listen to the

(A) Blue flowers, the water falls |
vﬁBf Blue flowers, the rabbits’ soft tread

(C) Yellow flowers, the rabbits’ soft tread
(D) Yellow flowers, the water falls

(E) Answer not known

167. The setting of the play ‘The Dying Detective’ is in
(A) Victor Savage’s house
(B) A New York city apartmeﬁt
(C) Dr. Watsoﬁ’s House

\,('Df ‘Sherlock Holmes’ bedroom
(E) Answer not known

168. Sir Arthur Ignatius Conan Doyle was a

(A) Irish , (B) American

\'(.G)' British ’ (D) French
(E) Answer not known

B ey gy d 83
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169. State which statement 1s correct :

(1) Little Czar was a European brown bear cub
(2) Little Czar was an Indian brown bear cub
(3) . Little Czar was an Américan brown bear cub
(4) Little Czar was a Germanian brown bear cub

w1 (B) 2
€ 3 D) 4
(E) Answer not known

170. Who brought up Sir IS.“’:laC Nev&to\n’?
(A) Grandfather v(ﬂ{ Grandmother
(C) Father (D) Mother
(E) Answer not known

i

171. Beauty lies in the beholder’s

(A) Head M Eyes -

(C) Brain (D) Ear
(E) Answer not known

172. “My Reminiscences” was written by

(A) Kamala Markandaya (B) Ernest Hemingway
(C) Toru Dutt _ \)ﬂr Rabindranath Tagore
(E) Answer not known
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173. “Great Leaders have something in them which inspires a whole

people and makes them. do great deeds”. Who quotes this?

(A) Dr. C.N. Annadurai (B) Gandhi
\ﬁf Jawaharlal Nehru (D, Abraham Lincoln

(E) = Answer not known

174. When was Subash Chandra Bose born?

- \J& January 23, 1897 ' (B) January 28, 1891
(C) January 26, 1901 (D) January 23, 1895

(E) Answer not known

175. Helen Keller's Autobiography was named

(A) My Story ) The Story of my Life
(C) Experiments with my Life (D) My Life

(E) Answer not known

176. How did Kalpana Chawla die?

\,{ﬁf Space Shuttle Disaster - (B) Aircraft Disaster
(© Rocket launch Disaster (D) Satellite Probe Disaster
(E) Answer not known
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Read the following passage carefully and answer the questions given
below (177 — 181) :

Raj was upset becauée he had done poorly in his English test. His
srandmother sat with him and gave him a pencil. A puzzled Raj
looked at his grandma and said he didn’t deserve a pencil after his
performance in the test. His grandma explained, “you can learn a
great many things from this pencil because it is just like you. It
experiences a painful sharpéhing, just the way you have experienced
the pain of not doing well in your test. However it will help you be a
better student. Just as all the good that comes from the pencil 1s
from within itself, you will also find the strength to overcome this
hurdle. And finally just as this pencil will make its mark on any
surface, you too shall leave your mark on anything you choose to”.
Raj was immediately consoled and promised himself that he would

do better in future.

177. Raj was upset as he had done . in his English test.

@A) well W87 poorly .
(C) better (D) average

(E) Answer not known

178. His grandmother gave him a
(A) sketch (B) pen
W pencil (D) painting box

(E) Answer not known
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179. Granny compared ~———— with the pencil.

(A) Babu ol \,ﬁB{ Raj -~
(C) Ravi | | (D) Rajesh

(E) Answer not known

180. Raj’s pain of not doing well in his test was compared with

of pencils.

(A) writing ' (B) drawing
(C) sketching \,ﬁfsharpening
(E) Answer not known |

181. Raj understood that failures are stepping stones to
\ﬂf)’ success . (B) consoling
(C) climbing - : (D) strength

(E) Answer not known

- 182. Choose the correct meaning of the phrase.

Reconcile to

(A) Maintain gl \,(B{ Accept half heartedly
(C) Arrive suddenly (D) Continue :
(E) Answer not known.
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183. Choose the correct Antonym for the underlined word ‘Concentrate’
from the option given.

(A) Continual (B) Preventable
Distract - ' (D) Wise
(E) Answer not known '

184. Match the following with correct Antonyms :

Column A Column B
(a) brisk 1. happy
(b) deéperate 2. criticize
(c) plaintive - 3. hopeful
(d) praise 4. dull

@ 0 © @
A 1 3 4 2
4 3 1 2 -
@& 4 4 "8 a3
D)y 4 1 2 3
(F) ~ Answer not known

185. Select the correct prefix word for ‘Violet’ from the options given :

WS ultra (B) em
(C) super D) in
(E) Answer not known

186. Pick a suitable prefix for the given word from the given options :

Understand
(A) re - (B) ir

M mis (D) sub

(E) Answer not known
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187. Choose the correct tense form for the following sentence.

If she works hard, she a scholarship.
(A) would get (B) would have got
will get - (D) won't get

(E) Answer not known

188. Select the correct tense.

If you ‘ hard you would have won the relay match.
A - will work ‘ (B) works
(C) working V@7 had worked

(E) Answer not known

189. Select the correct passive form of the sentence given.
~ She had already sent the parcel

(A) The parcel has already been sent by her
v(tB)' The parcel had already been sent by her

(C) The parcel was already sent by her

(D) The parcel was already sent to her

(E) Answer not known

190. Choose the correct Active Voice for the given sentence :
The rules should not be violated.

(A) You should violate the rules.
(B) Anybody should not violate the rules.
(C) - Do not violate the rules.

\,QHT Nobody should violate the rules. . -
(E) Answer not known '

191. Which of the following is suitable to complete the meaning?

I stopped -to him.
(A) to talk R B talking <
(C) having talked (D) being talked

(E) Answer not known
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192. Someday people will : of our great exploits.

(A) right ~ (B) reads
write (D) wrote
+ (E) Answer not known

193. Find out the error part in the given sentence.

I found an one rupee coin / in the playground / while playing

A B C
VA{ I found an one rupee coin (B) in the playground
(C) while playing ‘ (D) All are incorrect

(E) Answer not known

194. Choose the correct article.

This has got to stop immediately; Justice Mathematics said in

stern voicé, rapping ————— hammer for silence in
—— court.
(A) a,the,a (B) the, a, the
M a, the, the (D) a, a, the

(E} Answer not known

195. Choose the correct preposition :

Miranda hung her father saying, “Why are you so
ungentle”?

\(Ar upon - (B) on

(€C) In (D) with

(E) Answer not known

196. Select the correct meaningful sentence from the following.

(A) My Sister and friend have come. .
(B) Her cousins as well as her friends has received prizes.
(C) The whole class are attentive.
News never comes too late. 7
(E) Answer not known
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197. Pick out the complex sentence from the given options.

" (A) I could not make out the meaning of his absurd behaviour
\)E’)' One who does not love one’s country is a wretched person
(C) The children strolled through the meadow
(D) The moon was bright and we could see our way
(E) Answer not known

198. Find out what kind of sentence is given below.
‘If he is at home, I shall see him’..

(A) Simple (B) Compound
\,(Zf Complex (D) Imperative

(E) Answer not known

199. Combine the pairs of sentences by choosing the correct sentence.

[ saw a Tiger. It was wounded
(A) I saw a Tiger was wounded \@B{I saw a wounded Tiger

(C) A wounded Tiger saw me (D) I was wounded by the Tiger ‘

(E) Answer not known

200. identify the correct Degree of Comparison :
(1) Very few people in this town are as generous as Mr. Mohan.
(2) I cannot do anything better for you than this.
(A) (1) Comparative Degree (2) Positive Degree

\,BY_ (1) Positive Degree (2) Comparative Degree

(C) (1) Superlative Degree (2) Comparative Degree
(D) (1) Positive Degree (2) Superlative Degree
(E). Answer not known
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